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1.Which objects can you combine using a CompositeProvider? Note: There are 2 correct answers to this 
question. 
A. SAP HANA calculation views 
B. CompositeProvider 
C. InfoSources 
D. Key figures 
Answer: A,B 
 
2.When do you recommend using an external hierarchy? Note: There are 3 correct answers to this 
question. 
A. The hierarchical structure will be time-dependent. 
B. The structure will contain formulas. 
C. The structure will depend on the order of the row characteristics. 
D. The structure exists in the source system. 
E. The query data will be restricted to a hierarchy node. 
Answer: A,D,E 
 
3.you create a new sap hana remote connection. 
How does sap hana smart data access (SDA) differ from sap hana smart data integration (SDI)? (2 
answer) 
A. SDI is recommended for data source with limited changesin data structure SDA contains features to 
act as a full blown ETL tool" 
B. SDI supports data replication in real time SDA does not provide this capability" 
C. SDI requires an additional sap hana data provisioning server SDA is integrated in the sap hana index 
server" 
D. SDI is used only for sap hana native apps the SDA interface is used for sap bw/4hana models" 
Answer: A,B 
 
4.You want to validate your SAP HANA data model. 
What must you ensure to use the data preview functionality? 
A. The _SYS_BIC user is created in the system and the runtime information is written to_SYS 
STATISTICS. 
B. You are connected as SYSTEM user and all object privileges are assigned to this SYSTEM user. 
C. The _SYS_REPO user must have sufficient object privileges assigned to your desired schema. 
D. Your content package is assigned with sufficient repository privileges to the SYS REPO user. 
Answer: C 
 
5.What can you do when you use process chains? Note: There are 2 correct answers to this question. 
A. Trigger delta merge. 
B. Activate requests in DataStore objects (advanced). 
C. Generate transformations. 
D. Activate data transfer processes (DTPs). 
Answer: A,B 
 


